BARKR/\REFH# B BEAIRILY—HESHEE (#HEA=ZEslst)
i i K
BERAIRIILYX—HEES = 24 x ga x D
(@s) = 24 x 405 x 844 / 1000 = 8,214  [kWh]

= 24 x 405 x 844 x 3600 / 1000000 = 29,571 [MJ]
=Ep:EC T B St Az E 0.6 [-]
BTG & 871 W]
ERNFER RImMHi-Y DRBEHR - AMEAZTOMERL S DFEER 4.6 [W]
FEDHLENKER 112.6  [m]
ERNFER
= KIMBEYDERANSORER X EEDHLERKER
= 46 x 113 518 [W]
ERNERGR ERNIEHRE) - BHFIER + ERRER
(B = 8711 + 518 = 1,389 [W]
BB AR (ga) MREBERFRH (0a) = BEERFREHE x HIESKEHE
= 3.6 x 112.61 = 405 [W/°cl
BRBEZE BRBEZ=(Atn) = E / oa
(Atn) = 1389 / 405 = 3.43 [°C]
BEEBHR BEXEEREROERETER) 18 [°C]
(D) BEXEERGIEROERETER) - Atn = 14.57 [°C]
BEEEAKOD -= 844 [K-B]
EEAEREHES BEVATL = BRRA5—
(Qs) BESRATLHE() 1.00 [-]
BEERAESHESR
= 24 x ga x D / n
= 24 x 405 x 844 / 1 = 8,214  [kWh]
HAEREEL-YOBRERERHES
= BEERAERHEE / MHAEKER
= 8214 / 112.6 = 72.94  [kWh/mi]
BREICLDCOREE|REMCO, 20065 7—4 hifEAH 0.481 [kg/kWh]
[REGL / BEIRATLE 0.481 [kg/kWh]
CO,.®4E=E
= BERAIRLY—HEE x REMCO, / BEVATLHE
= 8214 x 0.481 / 1 = 3,951 [kel
HAEREEL-YDCO, RAEE
= COLEAEE / HAESKEHE
= 3951 / 112.6 = 35.1  [ke/m]
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AKR/RERFH B

REBRRYERES

( FE=EHKX=4 )

BBRFRE
BRAL AR EAIEAE | BRERE | BEX |RBXEH
ALmi1 | KIW/miK] [A-K-HIW/KI| QDW/riK]
E1R GIVTOK_ 50mm 16.35 0.92 15.07 0.13
K3 GIVT0K 50mm 31.47| 0818 2573 0.23
51 B¢ GIV0K 50mm 143.75 [ 0.884 | 127.13 1.13
R 2L -mm 10.47 | 0.974 10. 20 0.09
S A" YIFLY74-4B 25mm 43.06 1.047 | 31.57 0.28
FRB A YIFLY74-4B 25mm 3.31 1.047 3.47 0.03
BAC &8 - 22.78 - 144. 66 1.28
Ba BMEKEK 0.50 271.12 - 47.45 0. 42
A8 24 5E ~ R S - 112. 61 - - -
EELhk 405.27 | 3.599
FROEDEEX
RE| A BTHIE Y UEHE WTEAFIEEE RERE H v L5tk (mm) HiE miEx
KW/ mK] W () H &) Alm] K-ATW/K]
W[ /| EBEA | K7 BREHEH 7L 4.65 850 | 2,312 1.97 9.14
W2 | F| EEEA | FLI UL 7L 6. 51 1,650 | 2,000 3.30 | 21.48
W3 | || EEEA | FLI PUHL 7L 6.51 600 1,100 0. 66 4.30
We | | EEEA | FILI PUUL 7L 6. 51 600 1,100 0. 66 4.30
W ||| EmA | 7T PUHL L 6.51 600 500 0.30 1.95
We | db | EEEA | FLI LU 7L 6.51 600 500 0.30 1.95
W7 || EE@A | FLI LU 7L 6.51 600 500 0.30 1.95
We | b | EEEA | FILI UL 7L 6. 51 600 500 0.30 1.95
W[ | EmA | 7T UL L 6.51 360 900 0.32 2.1
Wio| B | EEEA | FLI LU 7L 6.51 686 686 0. 47 3.06
Wit| | EEEA | FLE LU 7L 6. 51 1,650 230 0.38 2.47
Wi2| B[ EEEA | FLI LU 7L 6. 51 1,650 1,100 1.82 11.82
Wis[ | EmA | T oo L 6.51 1,650 1,100 1.82 11.82
Wi4| d | EEEA | FALE LU 7L 6. 51 600 500 0.30 1.95
Wi5| # | EEEA | FILI LU 7L 6.51 360 900 0.32 2.1
Wi6| B | EEEA | FILI PUHL 7L 6. 51 1,650 1,800 2.97 19.33
W7T[E | EmEA | LI PUHL L 6.51 1,650 1,800 2.97 19.33
Wis| | EEA | FLI LU 7L 6.51 1,650 1,100 1.82 11.82
WI9| F | EEEA | FILI UL 7L 6.51 1,650 1,100 1.82 11.82
ERE 22.78 | 144.66
B EAR 22.78 | 144.66
EEEBE 0.00 0. 00
X @EE 0. 00 0. 00
EREH 0.00 0. 00
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BROXERERE

i s A B
BHod |[FEMHE #HEH
s25| No. Em4 B | 8McEBER | KR BJEin
d A d/A d/A
mm W/m-K mi -K/W mi -K/W
-l -[ERAIRERMEERD Ri - - 0.09 0.09
a 1 |%&L - - - -
b |63[#E-2Z5K—F 9.5 0.22 .04 0.04
c | 2 [GW10K 50 0.05 1.00 -
d | 36 [KR#f 13& 50 0.12 0.42
e | 1 |HL - - - -
-l -ISHREIRERMEEED Ro - - 0.09 0.09
BERIET YR=Xd/A 1.22 0.64
BERE Kn=1/XR 0.82 1.56
BWEmEIELL a 0.86 0.14
FERERE=FHRERE K=2 (a- Kn) 0.922
& BRAN——
d FEK - B
¢ FRiEHFELES
b A FHERS
a AR

A B &
RKHADEERE
25| No. BM4A B | BMnEER | 2MER
d A d/ A
mm W/m-K mK/W
-|  -|ERAIERERMEEER R - - 0.09
a 1 |%&L - - -
b |63[8>Z5/KR—F 9.5 0.22 0.04
c 2 |GW10K 50 0.05 1.00
- IS SAIREEEEER Ro - - 0.09
BB RIER SR=Yd/A 1.22
BERE Kn=1/XR 0.82
BEmiALL a 1.00
BERE K=2 (a- Kn) 0.818

LAV

c HEL
b pugE e
a P bt
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HoiEs A B C
EBn 4 FEIERREL | BEMEM | EFCS
5258]| No. B4 B | 3B ER | MEHR K K
d A d/ A d/ A d/ A
mm W/m-K mK/W mK/W mK/W
- -|ERAIREHEEER RI - - 0. 11 0. 11 0.1
a 1 |145L - - - - -
b |63|[8E>Z5K—FK 12.5 0.22 0.06 0.06 0.06
c 2 |GW10K 50 0.05 1.00 - -
d | 36 | K&t 178 50 0.12 - 0.42 -
e | 36 |[R#&t 178 50 0.12 - - 0.42
f | 56 [&ik 9 0.16 0.06 0.06 0.06
- - RAIRESHEEER Ro - - 0.11 0.11 0. 11
BB RER SR=Yd/A 1.33 0.75 0.75
BERE Kn=1/XR 0.75 1.33 1.33
BWEmisL a 0.77 0.20 0.03
EERERE=FHRERR K= (a- Kn) 0. 884
=AHA a PR B e F<B
b PR b abec /f
o JTIERTES
T T e
t o :l:
(i
== = =
| N fa fah
4 B b B4
FEEERDEEHRERE
28] No. B4 B | 3B | MER
d A d/A
mm W/m-K mK/W
-l -[ERRRERMEEER R - - 0.11
a 1 |145L - -
b | 36 [ K&t 178 90 0.75
c | 56 [Bik 9 0.06
- IS SAIREEEEER Ro - 0.11
BB RIER SR=Yd/A 1.03
BERE Kn=1/XR 0.97
BEmEEL a 1.0
EERERER=FHRERR K= (a- Kn) 0.974
== b Re
=)
-
G a FREM{ETELL
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ROEBFHERE
EBHEE A B
Brd AR BAH
s23{ No. BM4 B | BnEER | 2MER K
d A d/ A d/ A
mm W/m-K mK/W mK/W
-l -IZRAIREREEER R - - 0.15 0.15
a | 52 |[&#kon7 12 0.16 0.08 0.08
b | 56 [&#k 15 0.16 0.09 0.09
c | 25 [#" Y1FLY74-LB 25 0.042 0. 60 -
d | 36 | K&t 178 25 0.12 - 0.21
- IS SAIREEEEER Ro - - 0.15 0.15
BB RER SR=Yd/A 1.06 0. 68
BERE Kn=1/XR 0.94 1.48
BWEmisL a 0.80 0.20
EERERE=THHRERE K=3% (a- Kn) 1. 047

I 7 :KHE;H: =

A B ) B A
RBOEBEHE =
BRRE A B
B2 | REER | FRE
22 No. EHA Ex | BMEEE | BER | BMER
d i d/2 d/2
mm W/m-K mK/W mK/W
T [ EREEEREEER R . . 0.15 0.15
a | 52 |&trony 2 0.16 0.08 0.08
b | 56 |84k 5 0.16 0.09 0.09
o | 25 [¥ VTFLu77-18 5l 0042 0. 60 -
d | 36 [£# 178 25 0.12 - 0.2
| | EpEEREEER Ro _ _ 0.15 0.15
BB AR SRS d/ A 106 0.68
BERE Kn=1/3 R 094 143
SEERL 2 0. 80 0.20
SEREAE—THRERE K7 @ K0 1047
iR d }; ;: ;: ;: ;: ;: ;z ;; ;; ;; ;: ;: ;: ;:E;E

a FRFf
NE S
¢ R EMTE

a LRtd
b B TS
C FriEHELLS
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AKR/REF# B BHERGREEGES

FAED B 5TERG
13 BTk BEME| #kk WIERE  |#HEMRS| 24 85| HIE B
RS\ AN AR A5 ADMLE | BsERY | BE | RS 2 B BAE | BAE |AHFIE
Vi Y1[ml | Z[m] | X[m] | Y2[m] [Ai[mi1] L1 L2 1 2 fc no Ki) ni
Wi|®| 0.36 | {Emsi#EEB6 b-AB-7Y 0.85 [2.31 |1.97 1.00 0.46 0.46 0.33
W2 | | 0.36 | EM5I4EEB6 V=287 1.65 | 2.00 |3.30 1.00 0. 46 0. 46 0.55
W3 | 3| 0.44 | {ERR5H4EEB6 b-AB-7Y 0.60 |[1.10 ] 0.66 1.00 0.46 0.46 0.13
WA | || 0.44 | EM5I4EEB6 V=287 0.60 | 1.10 | 0.66 1.00 0. 46 0. 46 0.13
Wo [ 3| 0.44 | {ERR5H4E/EB6 b-AB-7Y 0.60 |0.50 | 0.30 1.00 0.46 0.46 0.06
W6 | db | 0.23 | {EM5I4EEB6 V=287 0.60 |0.50 | 0.30 1.00 0. 46 0. 46 0.03
W7 |4t ] 0.23 | {Emk5i#EfEB6 [ 0.60 |0.50 | 0.30 1.00 0.46 0.46 0.03
W8 | de | 0.23 | {EM5I4E/EB6 V=287 0.60 |0.50 | 0.30 1.00 0. 46 0. 46 0.03
Wo [ #& | 0.44 | {ERR5H4E/EB6 [ 0.36 [0.90 ]0.32 1.00 0.46 0.46 0.07
Wi0| B8 | 0.36 | {EM5I4E/EB6 V=287 0.69 [0.69 |0.47 1.00 0. 46 0. 46 0.08
Wit @] 0.36 | {Enm5i#E/EB6 [ 1.65 [0.23 ]0.38 1.00 0.46 0.46 0.06
Wi2| | 0.44 | EM5I4E/EB6 V=287 1.65 [1.10 | 1.82 1.00 0. 46 0. 46 0.37
Wi13| 4t | 0.23 | {Ema5i#E/EB6 b-AB-7Y 1.65 [1.10 | 1.82 1.00 0.46 0.46 0.19
Wi4] de | 0.23 | {EM514EEB6 V=287 0.60 |0.50 | 0.30 1.00 0. 46 0. 46 0.03
Wis| #& | 0.44 | {ER5{4E/EB6 b-AB-7Y 0.36 [0.90 ]0.32 1.00 0.46 0.46 0.07
Wi6| A | 0.36 | {EM5I4E/EB6 V=287 1.65 | 1.80 | 297 1.00 0. 46 0. 46 0.49
Wi7| @ | 0.36 | {Em5i#E/EB6 b-AB-7Y 1.65 [1.80 |2.97 1.00 0.46 0.46 0.49
Wi8| | 0.44 | EM5I4E/EB6 V=287 1.65 [1.10 | 1.82 1.00 0. 46 0. 46 0.37
W19f #& | 0.44 | E5{4E/EB6 V-A8-7Y 1.65 [1.10 | 1.82 1.00 0. 46 0. 46 0.37
&t 3.88
SRR D B S5TERIF
koA PAAES - BRfL [EE BERE BERAR BT ERTG
Vi Ai Ki 7 i=0. 04Ki vi-ni-Ai
[ 0.36 |9hEEA 44.25 0.88 0.03 0.48
5] 0.36 |PERAERA 2.62 0.97 0.03 0.03
[i] 0.44 |9+EEA 44.25 0.88 0.03 0.59
[ii] 0.44 |BERAERA 2.62 0.97 0.03 0.04
it 0.23 |9hEEA 44.25 0.88 0.03 0.31
it 0.23 |BERAERA 2.62 0.97 0.03 0.02
® 0.44 |5+EEA 44.25 0.88 0.03 0.59
g 0.44 |BERAERA 2.62 0.97 0.03 0.04
L 0.36 [E4R 60. 00 0.92 0.03 0. 68
EL 1.00 |X3# 31.47 0.82 0.03 0.87
& 3. 64
B ST ISR R
HRAPRERE [m] 112. 61
BRRSEE FAAOBSIE + R0 BSERG 71.51
HETIGHRE BTSSR / ENKEE 0.07
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